BP534A
BEARING & PULLEY PULLER SET

a
(_)
Oﬁ@@

Jh\j [ E/E

—{])

| 1D




BP534A
BEARING & PULLEY PULLER SET

1. BP534A-1 1 #?)RSG“E/F;H;.LER CROSSBLOCK (3 PIN-HOLE @ 3-1/4”
2. BP534A-2 1 igﬂgi/l;g)LLER CROSSBLOCK ( 3 PIN-HOLE @ 2-3/8”
3 BP534A-3 1 LONG FORCING SCREW (3/4”-16X6-11/16" LONG)
A BP534A-4 1 SHORT FORCING SCREW (3/4”-16X5” LONG)

5 BP534A-5 1 LARGE ADJUSTING YOKE

6. BP534A-6 1 SMALL ADJUSTING YOKE

7 BP534A-7 p) DETENT LOCK PINS

8 BP534A-8 2 LONG JAWS (MAX. REACH 1-3/4")

9 BP534A-9 2 MEDIUM JAWS (MAX. REACH 1-5/8”)

10. BP534A-10 2 SHORT JAWS (MAX. REACH 1-3/8”)

11. BP534A-11 2 CAP SCREW AND WASHER (5/16”-18X4” LONG)
12. BP534A-12 2 CAP SCREW AND WASHER (3/8”-16X2-3/4” LONG)
13. BP534A-13 2 CAP SCREW AND WASHER (3/8”-16X3” LONG)

14 BP534A-14 1 CENTER TIP FOR FORCING SCRWS




